
Krepo Odense

2019-12-03  A Slutresultat
8 bord, 16 par. Antal spil: 18. Middel: 90,0. Middel+/=/- giver 60 / 50 / 40 %. Ligestilling.

Plac Par Score % Lige Navn M-ID

1 18 111,0 61,7 Henning Andreassen - Poul Nielsen 43 45
2 16 105,2 58,4 Lisbeth Juhl - Inger Lise Hoyer 49 39
3 8 103,8 57,7 Else Lisby - Ulla Jørgensen 8 58
4 17 103,2 57,3 Knud Jeppesen - Vini Vøldike 5 30
5 7 97,6 54,2 Tove Nielsen - Lillian Immerkjær 50 29

6 4 96,4 53,6 2 Kirsten Petterson - Lise Pedersen 41 42
7 14 96,4 53,6 0 Bodil Andreassen - Lissi Mikkelsen 7 4
8 1 94,0 52,2 Niels Vangsgaard - Hans Erik Kreuz 35 18
9 3 88,0 48,9 Grethe Carlsen - Jens Nørgaard 11 17

10 11 87,0 48,3 Ulla Ryehauge - Tove Borre 21 32

11 2 83,6 46,4 Roald Christensen - Ellen Bakholt 14 33
12 5 83,0 46,1 Birthe Skjoldborg N. - Birgit Troelsen 48 47
13 15 82,0 45,6 Elly Poulsen - Jens Balle 28 27
14 12 76,8 42,7 Angelo Danigella - Lise Gubi 44 20
15 6 73,6 40,9 Grethe Larsen - Ragnhild Andersen 6 19

16 13 58,4 32,4 Flemming Kehman - Birthe Nielsen 46 40



Krepo Odense

2019-12-03  A Slutresultat
8 bord, 16 par. Antal spil: 18. Middel: 90,0. Middel+/=/- giver 60 / 50 / 40 %. Ligestilling.

Par Kontr Resultat Point
Spil:  1

1 11 2 S -1 -50 3,0 7,0
3 16 2 S -1 -50 3,0 7,0
5 17 2U Ø = -120 0,0 10,0
6 14 2U V -1 50       7,0 3,0
7 18 3U Ø -2 100       10,0 0,0
8 15 3U Ø -1 50       7,0 3,0

Par Kontr Resultat Point
Spil:  2

1 11 4 S = 620       8,0 2,0
3 16 4 S +1 650       10,0 0,0
5 17 2 S +2 170       5,0 5,0
6 14 1 N +1 90       2,0 8,0
7 18 3U N -2 -200 0,0 10,0
8 15 1 S +3 170       5,0 5,0

Par Kontr Resultat Point
Spil:  3

1 11 2 V +1 -140 3,8 6,2
3 16 2 V = -110 7,4 2,6
5 17 4 V -1 100       9,8 0,2
6 14 M=/M= 5,0 5,0
7 18 3U V = -600 0,2 9,8
8 15 1 V +2 -140 3,8 6,2

Par Kontr Resultat Point
Spil:  4

1 16 3 N -2 -200 0,0 10,0
2 12 4 V -4 400       8,0 2,0
4 17 2 V -1 100       2,0 8,0
6 18 1x N = 140       4,0 6,0
7 15 4x V -4 1100       10,0 0,0
8 11 4x V -1 200       6,0 4,0

Par Kontr Resultat Point
Spil:  5

1 16 4 Ø = -420 4,0 6,0
2 12 4 Ø = -420 4,0 6,0
4 17 4 Ø = -420 4,0 6,0
6 18 3 V +1 -130 10,0 0,0
7 15 4 Ø = -420 4,0 6,0
8 11 4 Ø = -420 4,0 6,0

Par Kontr Resultat Point
Spil:  6

1 16 3 S -2 -100 3,8 6,2
2 12 4 Ø -2 200       9,8 0,2
4 17 1 Ø +1 -90 7,4 2,6
6 18 2 Ø +1 -110 0,2 9,8
7 15 M=/M= 5,0 5,0
8 11 2 S -2 -100 3,8 6,2

Par Kontr Resultat Point
Spil:  7

1 12 4 V -2 200       10,0 0,0
2 17 4 V = -620 3,0 7,0
3 13 4 V = -620 3,0 7,0
5 18 4 V = -620 3,0 7,0
7 11 4 V -1 100       8,0 2,0
8 16 4 V = -620 3,0 7,0

Par Kontr Resultat Point
Spil:  8

1 12 5x N = 550       10,0 0,0
2 17 3 Ø = -140 0,0 10,0
3 13 1 N +4 150       6,0 4,0
5 18 5 N = 400       8,0 2,0
7 11 5x N -1 -100 2,0 8,0
8 16 1 N +2 110       4,0 6,0



Krepo Odense

2019-12-03  A Slutresultat
8 bord, 16 par. Antal spil: 18. Middel: 90,0. Middel+/=/- giver 60 / 50 / 40 %. Ligestilling.

Par Kontr Resultat Point
Spil:  9

1 12 2 N = 110       2,6 7,4
2 17 2 N +2 170       7,4 2,6
3 13 3 N = 140       5,0 5,0
5 18 3 V -1 100       0,2 9,8
7 11 2 N +3 200       9,8 0,2
8 16 M=/M= 5,0 5,0

Par Kontr Resultat Point
Spil:  10

1 17 3 N -1 -100 2,0 8,0
2 13 1 V -1 100       7,0 3,0
3 18 2 V = -110 0,0 10,0
4 14 2 V -1 100       7,0 3,0
6 11 1 V = -80 4,0 6,0
8 12 3 N = 140       10,0 0,0

Par Kontr Resultat Point
Spil:  11

1 17 2 V +2 -170 6,0 4,0
2 13 1x S -1 -100 10,0 0,0
3 18 2 V +3 -200 1,0 9,0
4 14 3 V +1 -170 6,0 4,0
6 11 1 V +4 -200 1,0 9,0
8 12 2 V +2 -170 6,0 4,0

Par Kontr Resultat Point
Spil:  12

1 17 M=/M= 5,0 5,0
2 13 2 Ø +2 -170 5,0 5,0
3 18 5xx V = -800 0,2 9,8
4 14 4 Ø -1 50       7,4 2,6
6 11 3U Ø +1 -430 2,6 7,4
8 12 3U V -2 100       9,8 0,2

Par Kontr Resultat Point
Spil:  13

1 13 4 S +1 150       8,0 2,0
2 18 3 S +1 130       6,0 4,0
3 14 3 V -2 200       10,0 0,0
4 11 5 S -1 -100 1,0 9,0
5 15 4 V -1 100       4,0 6,0
7 12 5 S -1 -100 1,0 9,0

Par Kontr Resultat Point
Spil:  14

1 13 3U N +1 430       9,8 0,2
2 18 M=/M= 5,0 5,0
3 14 3U S = 400       2,6 7,4
4 11 4 S = 420       6,2 3,8
5 15 2U N +1 150       0,2 9,8
7 12 4 S = 420       6,2 3,8

Par Kontr Resultat Point
Spil:  15

1 13 3 Ø -2 100       5,0 5,0
2 18 M=/M= 5,0 5,0
3 14 4 S -2 -200 0,2 9,8
4 11 1 S +2 140       9,8 0,2
5 15 2 S = 110       7,4 2,6
7 12 3 S -1 -100 2,6 7,4

Par Kontr Resultat Point
Spil:  16

2 14 2 V +1 -140 1,0 9,0
3 11 2 V +1 -110 5,0 5,0
4 15 2 S = 110       10,0 0,0
5 12 2 V +1 -140 1,0 9,0
6 16 1 V +1 -110 5,0 5,0
8 13 4 V -1 100       8,0 2,0



Krepo Odense

2019-12-03  A Slutresultat
8 bord, 16 par. Antal spil: 18. Middel: 90,0. Middel+/=/- giver 60 / 50 / 40 %. Ligestilling.

Par Kontr Resultat Point
Spil:  17

2 14 1 V +1 -110 2,0 8,0
3 11 2 V -2 100       10,0 0,0
4 15 2 V = -110 2,0 8,0
5 12 1 Ø -1 50       8,0 2,0
6 16 2 V = -110 2,0 8,0
8 13 1 V = -80 6,0 4,0

Par Kontr Resultat Point
Spil:  18

2 14 3 S -2 -200 0,2 9,8
3 11 M=/M= 5,0 5,0
4 15 3 Ø -3 150       9,8 0,2
5 12 2U Ø -2 100       6,2 3,8
6 16 2 N -1 -100 2,6 7,4
8 13 3U Ø -2 100       6,2 3,8

Par Kontr Resultat Point
Spil:  19

1 14 3U Ø +2 -660 4,0 6,0
3 15 6x V -2 500       10,0 0,0
4 12 3U V +3 -690 2,0 8,0
5 16 3 V -1 100       8,0 2,0
6 13 2U V +4 -240 6,0 4,0
7 17 3U Ø +4 -720 0,0 10,0

Par Kontr Resultat Point
Spil:  20

1 14 3 N -1 -100 4,0 6,0
3 15 1 N +1 110       7,0 3,0
4 12 3x N -1 -200 1,0 9,0
5 16 4 N -2 -200 1,0 9,0
6 13 2 N = 110       7,0 3,0
7 17 3 N = 140       10,0 0,0

Par Kontr Resultat Point
Spil:  21

1 14 2U Ø +5 -270 5,0 5,0
3 15 3U Ø +1 -430 2,6 7,4
4 12 M=/M= 5,0 5,0
5 16 4 V +1 -450 0,2 9,8
6 13 4 V -1 50       8,6 1,4
7 17 3U Ø -1 50       8,6 1,4

Par Kontr Resultat Point
Spil:  22

2 15 3 V = -140 1,0 9,0
4 16 4 V -1 100       6,0 4,0
5 13 4 Ø -1 100       6,0 4,0
6 17 3 V = -140 1,0 9,0
7 14 3U V -1 100       6,0 4,0
8 18 4 V -2 200       10,0 0,0

Par Kontr Resultat Point
Spil:  23

2 15 3U N +1 630       3,0 7,0
4 16 4 S = 620       0,0 10,0
5 13 5 S +1 680       10,0 0,0
6 17 3U N +1 630       3,0 7,0
7 14 3U N +2 660       8,0 2,0
8 18 4 S +1 650       6,0 4,0

Par Kontr Resultat Point
Spil:  24

2 15 3 S -1 -50 6,2 3,8
4 16 2 S +1 140       9,8 0,2
5 13 M=/M= 5,0 5,0
6 17 2 V = -90 2,6 7,4
7 14 3 S -1 -50 6,2 3,8
8 18 4x S -2 -300 0,2 9,8


